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Wavelength (A)
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8.0°10° 1.0-10* 1.2.10* 1.4+10* 1.6¢10*
Wavelength (A)
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Wavelength (A)
Object 387 J,;;=  Hy4,,=24.79
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Wavelength (A)
Object 389 J,,,= H,,,=24.80
8.0°10° 1.0¢10* 1.2¢10* 1.4¢10* 1.6¢10*
Wavelength (A)
Object 390 J,;,,= Hy4,,=24.80
8.0¢10° 1.0¢10* 1.2¢10* 1.4¢10* 1.6¢10*
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Wavelength (A)
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8.0°10° 1.0¢10* 1.2¢10* 1.4¢10* 1.6¢10*
Wavelength (A)
Object 393 J,;,= Hy4,,=24.85
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Wavelength (A)
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Wavelength (A)
Object 395 J,,,= H,,,—24.88
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Wavelength (A)
Object 396 J,;,,= H,,,=24.88
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Wavelength (A)



Flux (10" ergs s* cm? A™Y) Flux (10" ergs s* cm™? A™)

Flux (10*® ergs s* cm? A

15

1.0

0.5

0.0

-1.0

0.2

o
o

-0.2
-0.4
-0.6

-0.8
-1.0

0.2
0.0
-0.2
-0.4
-0.6

-0.8

e
o

Object 397 J,;.=  Hy,,=24.89

8.0°10° 1.0-10* 1.2.10* 1.4+10* 1.6¢10*
Wavelength (A)
Object 398 J,,,= H,,,=24.92
8.0:10° 1.0+10% 1.2.10% 1.4+10% 1.6+10%
Wavelength (A)
Object 399 J,;,,= Hy4,,=24.93
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Wavelength (A)
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8.0¢10° 1.0¢10* 1.2¢10* 1.4¢10* 1.6¢10*
Wavelength (A)
Object 402 J,;,= Hy4,,=24.95
8.0¢10° 1.0¢10* 1.2¢10* 1.4¢10* 1.6¢10*

Wavelength (A)
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Object 403 J,;,= H,,,=24.96

8.0°10° 1.0-10* 1.2.10* 1.4+10* 1.6¢10*
Wavelength (A)
Object 404 J,,,= H.,,=24.96
8.0:10° 1.0+10% 1.2.10% 1.4+10% 1.6+10%
Wavelength (A)
Object 405 J,,,=  Hy,,=24.97
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Wavelength (A)
Object 407 3110 H,,,=24. 98
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8.0¢10° 1.0¢10* 1.2¢10* 1.4¢10* 1.6¢10*
Wavelength (A)
Object 408 J,,,= H,,,=25.00
8.0¢10° 1.0¢10* 1.2¢10* 1.4¢10* 1.6¢10*

Wavelength (A)
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8.0¢10° 1.0+10* 1.2¢10% 1.4¢10* 1.6¢10*
Wavelength (A)
Object 410 J,;,=  H;4,,=25.02
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Wavelength (A)
Object 411 J ;= H,,,=25.04
8.0¢10° 1.0¢10* 1.2¢10* 1.4¢10* 1.6¢10*

Wavelength (A)
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8.0°10° 1.0-10* 1.2.10* 1.4+10* 1.6¢10*
Wavelength (A)
Object 413 J,,,= H,,,=25.05
8.0:10° 1.0+10% 1.2.10% 1.4+10% 1.6+10%
Wavelength (A)
Object 414 J,,,= H,,,=25.06
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8.0°10° 1.0-10* 1.2.10* 1.4¢10* 1.6¢10*

Wavelength (A)
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Wavelength (A)
Object 416 J,;,,= H.,,=25.08
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8.0°10° 1.0+10% 1.2.10% 1.4+10% 1.6+10%
Wavelength (A)
Object 417 J ;0= H,,,=25.08
8.0°10° 1.0-10* 1.2.10* 1.4¢10* 1.6¢10*

Wavelength (A)
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Wavelength (A)
Object 419 J,,,= H.4,,=25.09
8.0:10° 1.0+10% 1.2.10% 1.4+10% 1.6+10%
Wavelength (A)
8.0°10° 1.0-10* 1.2.10* 1.4¢10* 1.6¢10*

Wavelength (A)
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8.0¢10° 1.0+10* 1.2¢10% 1.4¢10* 1.6¢10*
Wavelength (A)
Object 422 J,,,= H,,,=25.11
8.0°10° 1.0¢10* 1.2¢10* 1.4¢10* 1.6¢10*
Wavelength (A)
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Wavelength (A)
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Object 424 J,,,= H;,,=25.13
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8.0°10° 1.0-10* 1.2.10* 1.4+10* 1.6¢10*
Wavelength (A)
Object 425 J,,,= H,,,=25.14
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8.0:10° 1.0+10% 1.2.10% 1.4+10% 1.6+10%
Wavelength (A)
8.0°10° 1.0-10* 1.2.10* 1.4¢10* 1.6¢10*

Wavelength (A)
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Wavelength (A)
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Object 430 J,;i= H;4,0=25.21

8.0¢10° 1.0+10* 1.2¢10% 1.4¢10* 1.6¢10*
Wavelength (A)
Object 431 J,,= H,,,=25.24
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8.0°10° 1.0¢10* 1.2¢10* 1.4¢10* 1.6¢10*
Wavelength (A)
Object 432 J,;,,= H,,,=25.24
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8.0°10° 1.0-10* 1.2.10* 1.4+10* 1.6¢10*
Wavelength (A)
Object 434 J,,,= H,,,=25.27
8.0:10° 1.0+10% 1.2.10% 1.4+10% 1.6+10%
Wavelength (A)
Object 435 J,;0=  H,,0=25.27
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Wavelength (A)
Object 437 J,;,,= Hy,,=25.28
8.0°10° 1.0¢10* 1.2¢10* 1.4¢10* 1.6¢10*
Wavelength (A)
Object 438 Juo H14o_25 32
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8.0°10° 1.0-10* 1.2.10* 1.4+10* 1.6¢10*
Wavelength (A)
Object 440 J,,,= H,,,=25.34
8.0:10° 1.0+10% 1.2.10% 1.4+10% 1.6+10%
Wavelength (A)
Object 441 J,,,= H,,,=25.34
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Wavelength (A)
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8.0°10° 1.0-10* 1.2.10* 1.4+10* 1.6¢10*
Wavelength (A)
Object 443 J,,,= H,,,=25.40
8.0:10° 1.0+10% 1.2.10% 1.4+10% 1.6+10%
Wavelength (A)
Object 444 J,,,= H,,,=25.40
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Object 445 J,,,= H;,,=25.41

8.0¢10° 1.0+10* 1.2¢10% 1.4¢10* 1.6¢10*
Wavelength (A)
Object 446 J,,,= H,,,=25.43
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Wavelength (A)
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Object 449 J,,,= H,,,=25.49
8.0:10° 1.0+10% 1.2.10% 1.4+10% 1.6+10%
Wavelength (A)
Object 450 J,;0= H,,,=25.50
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8.0:10° 1.0+10% 1.2.10% 1.4+10% 1.6+10%
Wavelength (A)
Object 453 J ;o= H,,,=25.58
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Wavelength (A)
Object 455 J,,,= H,,,=25.64
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Wavelength (A)
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